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1. B A+B+C=x, RiF: (1) cos® A+cos? B+cos’C+2cos AcosBcosC =1;

(2) tanétanEHanEtanE+tan9tané:10
2 2 2 2 2 2

12 &% A+B+C=x, KiE: SHEBNSHX Y, 2, 195

X2 +y® +12? >2yzcos A+ 2zxcos B+ 2xycosC ,
B3, &5 o, LRSI a+sin? f=sin(a+fB), KiF: awzgo

B4 Ha byt BanEx +ac+b +ax+1=0EPH—AHR, kKa’+b
5/ME,

%15 % AC,B,DREZL EARHAFIMNMAN R, ORCDHRLBEOZEABREM. 52 5IM

TH AR FHEH A B;C, D 2IAfF =5,

1 2L, L. (2) OC?=0D?=0A.0B"
AB_ AD T AC

(3) AC-AD=AB-AO : (4) AB-OD=AC-BD:
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6. 00,500,183 F A B, T AEABMEL, 7512 00,00,FTM,N, PEZMN

hE, AQ,RABEOGCO 500, t, ZAOQ=ZA0,R., Kif: PQ=PR,
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7. miaf ABCD W#EFE, i AB E—=M 251t AD,CD, BC (3%, EE 514

PN AM
P,Q,R, PREMQ#ZTFN , KiFf: — =—0
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